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> bryklme = lme(mathach ~ meanses*cses + sector*cses, - - /

random = ~ cses|school, data = Bryk) Loy 2 Ime L”L\')
> summary (bryklme) Linear mixed-effects model fit by REML Comlo Vldoﬂ VPL&&(DI
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(Intercept) 1.5426150 (Intr) Ve lat ce Caovipeict ¥ 1 5
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Residual  6.0597955 QV\C‘OU Moo
Fixed effects: mathach ~ meanses * cses + sector * cses L)

A Value Std.Error DF t-value p-value
(Intercept) foo 4 12.127931 0.1992919 7022 60.85510 Qe+00 Cca‘l”’l 50’70’)’-5
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cses 3’{0 A 2.945041 0.1556005 7022 18.92694 0e+00 7’& y
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Number of Observations: 7185 Number of Groups: 160
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